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Quiz #7, College Math I, Fall 2006

1. If 
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, describe the transformations involved in obtaining the graph of g from the graph of f (what they are and what they do).

Ans. The +3 shifts the graph to the left three units, the +2 shifts the graph up two units, the minus sign flips the graph upside down.
2. Find 
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.  Simplify your result.

Ans.: 
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3. Given the points (2,3) and (14,8) find the distance between the points, and the midpoint of the line that connects them.

Ans.: 
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4. If the point (4,-1) is the solution to the system 
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, what does that mean?

Ans.: it means that x = 4 and y = -1 is a solution to both equations simultaneously
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